202/04/19
Rpt2 (1) (AYBRY = A A RS
® (C) [’:‘r\"q*:‘c,t Yxe CAVRY ; fxe/_\ch%c]
Yxe (APRY = xd
[2ae <eAags ]
X< (APRY s (’che AR T&Q\EB
T (xeArR)
L T (xeA v xsB)
(" xeA) A ("xeR)
L (xEA) A (RERD
xe AL A xe@"

xe A AR //

2y (ORVex /



& (217 (1 LDu=R
&) () R

() {EE\T\G U DR
e YxeR , xeOw

VxelR Txa

=3 xe U,
e, SAC 1R T XA

XaB|EHTRE n TINE,
Mmed ;, N SsHXIn=
A= (n-(, o) 3, Ael)
f&a:\cz me/—\\x
N1 < NsxX<nel &)

xe (n-1,n+t) = A
’ Va



(2) W= {rao (ol . Nw=1o
C) (@ [ Nnu > i
( e, Yxeloh, xe O 1
Yxelo) T

TS X =0.

SO xe NR
e, VAW , X&A

VA1l TXA
{ I ')Q%AI
Ae1? s 3Sor0: A= (-0

G>0 &) Q€ (a8 =~

* 74








